
 

U Substitution Circuit Training 
 
Start with the instructed box by putting a 1 in that box.  Work out the problem and then find the box with 
that answer in it.  Put a 2 in that box and continue until you have completed the circuit. 
 

Answer: 4 ln$2𝑥' + 1$ + 𝐶 
 
# ————— ∫ ,−16𝑥/ + 7𝑥

1
2 + 34𝑑𝑥 

Answer: 6
/
(2𝑥' − 1)9 + 𝐶 

 
# ————— ∫ /:1

(:;<=)>
𝑑𝑥 

Answer: 6
9
(2𝑥/ + 5)9 + 𝐶 

 
# —————  ∫8𝑥/(2𝑥= + 5)/𝑑𝑥 

Answer: −4𝑥= + 5𝑥
A
2 + 3𝑥 + 𝐶 

 
# ————— ∫ ,8𝑥/ + B

:;
4 𝑑𝑥 

Answer: /
C
(3𝑥B − 1)

A
; + 𝐶 

 
# ————— ∫ 20𝑥/𝑒':>F=𝑑𝑥 

Answer: ln|3𝑥B + 4| + 𝐶 
 
# ————— ∫ =H:>

B:2<6
𝑑𝑥 

Answer:  6
I
(2𝑥 + 5)= + 𝐶 

 
# ————— ∫(2𝑥/ + 5)'6𝑥B𝑑𝑥 

Answer: F6
/(:;<=);

+ 𝐶 
 
# —————  ∫3𝑥B√𝑥/ − 4𝑑𝑥 



 

 

Answer:  2𝑥= − 6
:1
+ 𝐶 

 
# ————— ∫ ,': + 3𝑒

:4 𝑑𝑥 

Answer: 6
=
(2𝑥= + 5)= + 𝐶 

 
# —————  ∫20𝑥=(2𝑥' − 1)'𝑑𝑥 

Answer: B
/
(𝑥/ − 4)

;
1 + 𝐶 

 
# ————— ∫ 3𝑒/:(𝑒/: + 1)'𝑑𝑥 

Answer: 6
9
(𝑒/: + 1)9 + 𝐶 

 
# ————— ∫(3𝑥B − 1)

>
; ∙ 6𝑥𝑑𝑥 

Answer: 3𝑒=:;F' + 𝐶 
 
# ————— ∫ 9:

/:1<=
𝑑𝑥 

Answer: 5 ln|𝑥| + 3𝑒: + 𝐶 
 
# ————— ∫(2𝑥 + 5)/𝑑𝑥 

Answer: 𝑒':>F= + 𝐶 
 
# ————— ∫ 36𝑥B𝑒=:;F'𝑑𝑥 

  

 
 


